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Roll No. ....................................

MAEC-10 (M.A. Economics)

First Year, Examination-2015
MAEC-04

Quantitative Methods
(ifjek.kkRed fof/;ka)

Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections A, B, and C. Attempt the questions contained
in these sections according to the detailed instructions
given therein.

uksV % ;g iz'u&i=k lkB (60) vadksa dk gS tks rhu (03) [kaMksa d] [k rFkk
x esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r funsZ'kksa ds
vuqlkj gh iz'uksa dks gy djuk gSA

Section - A @ [k.M&d

(Long Answer Type Questions)@(nh?kZ mÙkjksa okys iz'u)

Note : Section 'A' contains four (04) long-answer-type questions
of fifteen (15) marks each. Learners are required to
answer any two (02) questions only.

(2×15=30)

uksV % [k.M ̂ d* esa pkj (04) nh?kZ mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, iUæg vad fu/kZfjr gSa A f'k{kkfFkZ;ksa dks buesa ls
dsoy nks iz'uksa ds mÙkj nsus gSa A
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1. What do you understand by function ? Define the following:

(a) Production function

(b) Utility function

(c) Even and odd function

(d) Algebric and Trancedental function

iQyu ls vki D;k le>rs gSa\ fuEufyf[kr dks ifjHkkf"kr dhft;s%

(v) mRiknu iQyu

(c) mi;ksfxrk iQyu

(l) le ,oa fo"ke iQyu

(n) chth; o vchth; iQyu

2. Define matrix. Explain different kinds of matrix.

vkO;wg dks ifjHkkf"kr dhft;sA fofHkUu izdkj ds vkO;wgksa dks le>kb;sA

3. What is time series ? Explain briefly its various components

and importance.

dky Js.kh D;k gS \ blds fofHkUu la?kVd vkSj egRo dks la{ksi
esa Li"V dhft;sA

4. Calculate standard deviation and its coefficient from the
following data :

Age group : 0-10 0-20 0-30 0-40 0-50 0-60 0-70 0-80

Frequency : 10 22 46 78 107 118 121 122

fuEukafdr leadksa ls izeki fopyu (SD) rFkk mldk xq.kkad
Kkr dhft;s&

vk;q oxZ : 0-10 0-20 0-30 0-40 0-50 0-60 0-70 0-80

vko`fÙk : 10 22 46 78 107 118 121 122
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Section - B @ [k.M&[k

(Short Answer Type Questions) (y?kq mÙkjksa okys iz'u)

Note : Section 'B' contains eight (08) short-answer-type
questions of five (05) marks each. Learners are required
to answer any four (04) questions only. (4×5=20)

uksV % [k.M ̂ [k* esa vkB (08) y?kq mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, ik¡p (05) vad fu/kZfjr gaS A f'k{kkfFkZ;ksa dks buesa
ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSa A

1. Write a short note on the objectives of classification.

oxhZdj.k ds mn~ns'; ij ,d laf{kIr fVIi.kh fyf[k;sA

2. Draw a cumulative frequency curve from the following data

and calculate median :

Marks : 0-10 10-20 20-30 30-40 40-50 50-60

Frequency : 8 12 20 40 15 5

fuEukafdr leadksa ls ,d lap;h vko`fÙk oozQ cukb;s rFkk eè;dk Kkr
dhft;s %

izkIrkad % 0-10 10-20 20-30 30-40 40-50 50-60

vko`fÙk : 8 12 20 40 15 5

3. If the variance and mean (X ) of a series are 146.21 and 30

respectively calculate coefficient of variance.

;fn fdlh Js.kh dk izlj.k rFkk ekè; (

X

) ozQe'k% 146-21 rFkk

30 gS rks fopj.k xq.kkad Kkr dhft;sA

4. Write a short note on Fisher's Ideal index number.

fiQ'kj ds vkn'kZ lwpdkad ij ,d laf{kIr fVIi.kh fyf[k;sA
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5. Explain the concept of linear programming.

js[kh; izksxzkfeax ds fopkj dh O;k[;k djsaA

6. Solve the following equation :

3x2 + 7x + 2

fuEukafdr lehdj.k dks gy dhft;s %

3x2 + 7x + 2

7. If 

A

then find out A + B and A – B

;fn  
23

41
B, 

54

32
A 








=








=

rks A + B rFkk A – B Kkr dhft;sA

8. Write a short note on the role of quantitative methods in the

study of Economics.

vFkZ'kkL=k ds vè;;u esa ifjek.kkRed fof/;ksa ds ;ksxnku ij ,d

laf{kIr fVIi.kh fyf[k;sA

Section - C @ [k.M&x

(Objective Type Questions) @ (oLrqfu"B iz'u)

Note : Section 'C' contains ten (10) objective-type questions of
one (01) mark each. All the questions of this section are
compulsory. (10×1=10)
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uksV % [k.M ^x* esa nl (10) oLrqfu"B iz'u fn;s x, gSa] izR;sd iz'u
ds fy, ,d (01) vad fu/kZfjr gS A bl [k.M ds lHkh iz'u
vfuok;Z gSa A

Choose the correct option :

lgh fodYi pqfu;s %

1. The central statistical organisation was established in the year:

(a) 1947 (b) 1950

(c) 1951 (d) 1961

dsUnzh; lakf[;dh; laxBu dk LFkkiuk o"kZ gS&

(v) 1947 (c) 1950

(l) 1951 (n) 1961

2. Census of population in India is organised after every :

(a) 5 Years (b) 10 Years

(c) 11 Years (d) 15 Years

Hkkjr esa tux.kuk vk;ksftr dh tkrh gS izR;sd

(v) 5 o"kZ ckn (c) 10 o"kZ ckn

(l) 11 o"kZ ckn (n) 15 o"kZ ckn

3. Which of the following is the most uncertain average ?

(a) Mode (b) Median

(c) geometric mean (d) Harmonic mean

fuEufyf[kr esa ls dkSu lk lcls vfuf'pr ekè; gS \

(v) cgqyd (c) ekfè;dk

(l) xq.kkRed ekè; (n) gjkRed ekè;
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4. Two dimensional diagrams are also known as :

(a) Area diagrams (b) Histogram

(c) Frequency Polygon(d) None of these

f}&foek fp=k --------------------- Hkh dgykrs gSa &

(v) {ks=k fp=k (c) vko`fr vk;r fp=k

(l) vko`fÙk cgqHkqt (n) buesa ls dksbZ ugha

5. Which formula is true (where σ  = standard deviation and V
= variance).

(a) V = (b) V = 
N

σ

(c) V = (d) V = Σ d2/N.

dkSu lk lw=k lgh gS (tgk¡ 
σ

 ¾ izeki fopyu rFkk V = izlj.k)

(v) V = 

(c) V = 
N

σ

(l)

(n) V = Σ d2/N.

6. Sampling is a process of bearning about the :

(a) Sample (b) Population

(c) Both of these (d) None of these

izfrp;u dh fof/ gS & vè;;u dh&

(v) izfrn'kZ ds ckjs esa (c) lexz ds ckjs esa

(l) nksuksa ds ckjs esa (n) nksuksa esa ls fdlh ds fy, ugha
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7. Method of first Principle is used to find out which one of the
following :

(a) Differential coefficient

(b) Determinant

(c) Regression Coefficient

(d) all these

izFke fu;e fof/ dk iz;ksx fuEufyf[kr esa ls fdl ,d dks Kkr
djus ds fy, fd;k tkrk gS %

(v) vody xq.kkad (c) lkjf.kd

(l) izrh;xeu xq.kkad (n) ;s lHkh

8. In case of unequal size of items :

(a)

X

 = G.M. = HM

(b)
X

> G. M. > H.M.

(c)
X

< G.M. < HM

(d) None of these

vleku in& ewY;ksa dh n'kk esa &

(v)

X

 = G.M. = HM

(c)

X

> G. M. > H.M.

(l)

X

< G.M. < HM

(n) buesa dksbZ ugha

9. Of the following which one is correct for A = {x : x2 – 9 =
0}?

(a) Finite set (b) Infinite set

(c) Singlton set (d) Empty set
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A = {x : x2 – 9 = 0} ds fy;s fuEukafdr esa dkSu lk dFku lR;
gS \

(v) ifjfer leqPp; (c) vifjfer leqPp;

(l) ,dy leqPp; (n) fjDr leqPp;

10. Differentiation of  Loge x :

(a) logae (b) ex

(c)
x

1
(d) xex

Loge x dk vodyu gksxk A

(v)
x

L
logae (c) ex

(l)
x

1
(n) xex


